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Problème 
n°

Calcul et réponse
Problème 

n°
Calcul et réponse

1 3+ 4 = 7 oeufs 16 2 + 3 = 5 pâtisseries

2 5 + 3 = 8 oeufs 17 5 + 3 + 2 = 10 ballons

3 3 + 4 + 1 = 7 fruits 18 5 + 4 = 9 cupcakes

4 3 + 2 = 5 papillons 19 5 + 10 = 15 francs

5 8 + 7 = 15 pommes 20 7 + 5 = 12 sucettes

6 5 + 7 = 12 autocollants 21 2 + 4 = 6 poissons

7 5 + 4 = 9 animaux 22
3 + 4 + 1 + 2 = 10 

légumes

8 3 + 2 + 4 = 9 jouets 23 3 + 4 + 2 + 5= 14 légos

9 5 + 2 = 7 bougies 24 3 + 6 = 9 oiseaux

10
2 + 2 + 2 + 2 = 8 

chaussettes 25 7 + 2 = 9 ans

11
5 + 3 + 4 + 2 = 14 

poissons 26 7 + 3 = 10 pierres

12 10 + 5 = 15 stylos 27 7 + 2 = 9 filles

13 3 + 5 + 3 = 11 fleurs 28 3 + 4 + 2 = 9 ballons

14
3 + 4 + 1 + 1 + 2 = 11 

animaux 29 8 + 3 + 2 = 13 francs

15
1 + 1 + 1 + 3 + 1= 7 

personnes 30 3 + 3 + 3 = 9 tulipes

Rallye des problèmes additifs : corrigé
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